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: INSTRUCTIONS :
All questions in the Test are multiple choice questions.

Each question carries one mark, with four alternatives out of which one answer is
correct. :

There will be no negative marking.
Use only BLUE/BLACK Ball Point Pen to darken the appropriate oval.

Mark your response only at the appropriate space against the number corresponding to
the question while answering on the OMR Response Sheet.

Marking more than one response shall be treated as wroag response.

Mark your response by completely darkening the relevant oval. The Mark should be
dark and the oval should be completely ﬁlled :

Use of calculator, Moblle is strictly prohibited and use of these shall lead to
disqualification. ,

The candidate MUST remove the last Carbon copy (Candldate’s copy) of OMR after
completion of Test.

The questio_n paper will be both in English & Punjabi. In case of any douﬁt, English
version will be taken as final.
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Evolutionary changes in one species prompt corresponding changes in other specles wnth _
which the former interacts ecologically. This process is known as

Complementation

(d) Microevolution

feamndt seemi, it Yyt feg wav}faaaa@%ﬁmm

Fafea feam

(a) Coevolution - (b)
% Parallel evolution
Yt feg
ufgsr ufanegsa 291 3% Adu uer § | fer yfafonr § fagr afer 3:
(@ v feam | ()
(c) mHgu feam @

An example of convergent evolution is

(a) Marsupial mole and placental moles (b)

(c) The wings in birds and insects (d)
: feam & Geaez 3 :

@ HIRIG TS o3 SRS S (b)
(©) Uit m3 difanrt ¥ ¥z @

Ay feam

The flippers in penguins and dolphms
All of the above

Dafes 3 3ufes 2 afoug

Budas A9 It

The cranial capacity of which one of the following prehlstonc humans was almost same as

that of the modern man ?

{a) Neanderthal man {b) Peking man
(c) Javaape man (d) Australo pithecus man
Yo fef3ora Haut fed” fom & sl mHder »irafes H3Y 575 NS uiet 3 7
(a) fo2398® Wiy (b) fda Ay
(© 7= 3U MY " (d) vACTSUERR HEY
The shape of beaks of Darwin’s finches, 1ndustnai malanism are examples of
(a) Artificial selection Natural selection
(c)  Convergent evolution Homologous structure
Fafes e @ 3 o nrag, @Emfaa AfswR/asus Baradst I5:
(8 J9-g=adt Iz st 9
(¢) eIyt feam _ (d) A Hagar
Stabilizing selection favours o
(a) Both extreme forms of a trait (b) Intermediate forms of a trait
(c) Environmental differences (d) One extreme form of a trait
g% AgfesT a9t J '
(a) BETTER YEIT U (b) Bz T nizgeIE u
(c) Iz fFazr (@ =z v fex ygsgu
What is associated with Neurosis ? '
(a) Itis relatively mild mental illness. (b) Neither delusions nor hallucinations
c) _ Both(a) & (b) (d) Neither (a) nor (b)
fgﬁ@aﬂ'ﬂ- &% Rafaz o 9 ¢ . ,
(@) Y939 '3 gmelt Hafia fardt () & dgHtdEs & F fsflEs
© @3@)T @ (a)# (b) S &
Night-blindness is caused by ‘
(a) - Genetic disturbance Excessive drinking
(© Excessive secretion of adrenals (d) Vitamin A deficiency
WOg3 AT J ¢
(a) EeRR foues/fearg (b) rif3nfte FoTgSH
() nEdtes o éaa farmi (@) feefis e Sture
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10,

11.

12.

13.

14.

Mental retardation in children suffering from galactosemia can be avoided by
(a) Giving them milk free diet.

(b) Giving them more milk.

(¢) Giving them milk fortified with vitamins.

(d) Giving them high protein diet.

TEIEHIPor 3 T3 St fog Hafiva fearg § Sfomr T RaEr T

(@ G 3FguIfBuIae A

b) 63 fmrergua

© 85 3 feerfis Afies gu ¥ gnmr

@ €5 & nifte s Tt ya 2% e

Vitamin containing biochemically rare element cobalt is

(a) Vitamin A (b) Vitamin B, (c) Vitamin B (d) VitaminB,,
Hie-grfesd T4 '3 »iATE 33 dawe JuE 9% feafis ¢ ¢

(a feafis A () feefiz B, (¢) fefis B (@) fezfis B,

A dental disease characterized by mottling of teeth due to in drinking water :

(a) Boron (b) Flourine (¢) Chlorine (d) Mercury
W@%u@wwuﬁﬁamvm Tz el ydt feg ofae J& 9
(a) §95 (b)) THIE () THIs (d) - HITH

The causal organism of kalaazar is
(a) Plasmodium (b) Leishmania (¢) Trypanosoma (d) Wuchereria

BT & 9339 T AIE J |
(a) USAHEMH (b)) ShERSH () TEUBAN (d) VI

Severe acute respiratory syndrome is caused by

(a) Corona virus (b) Adeno virus
(c) Both (a) and (b) (d) None of these
Ag-Raut Asore @ e e eraes 9 ¢
(a) o9 e ) W& ferg
L © @M G ) feogt &5 agt ¢t
Varicella zoster virus causes '
(a) Small-pox (b) Chicken-pox
(¢) Mumps (d) Hemorrhagic fever
HHes femg & a9z ?r |
(a) o ) S&ARws
(c) FBEUFFar (d) JISATR T
Micro-organisms which grow best in low pH conditions are called
(a) Alkaliphiles (b) Neutrophiles
(c) Acidophiles (d) None of these
mma%mmnfuéfﬁa%ﬁmé‘uﬁ% 3 faorarer I
(a) PBIBTEGA . () ﬁ@zaa'élm

(c) wHSTEsH (d) fsg*fea‘aéfm"r
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15. Plagueiscausedby , N
(@) VYersinia pestis . (b) Paramyxovirus |
(c) Herpesvirus (d) Rhino virus '
U T AGE J
(a) GiOHIGMT UAfeR () UofHar femg
(c) TIuA femrg @ 3 femg
16. Which organism causes Cysticercosis ?
(a) Echinococcus (b) Rickettsia provazaki
(¢) Taenia solium (d)  Enterobius vermicularis
a3t Aagar ardE Cysticercosis T&et O
(a) MiagA (b) foernr Yyl
(c) TSI RSN (d) wWedHnH TRiasion
17. RFLP analysns is a technique that
(a) uses hybridization to detect specific DNA restriction fragments in genomlc DNA.
is used to determine wheather a gene is transcribed in specific cells.
(c) measures the transfer frequency of genes during conjugation.
(d) isused to detect genctlc variation at protein level.
RFLP ferdnz fox sadia & #
(a) ﬁﬁsﬁﬁmﬁﬁmﬁﬁnDNAqwsmﬁGmomcDNAﬁtﬁfw
dufs3 I A I
®) mwm@ssﬁﬁnaﬁmmhaﬂfeﬁnﬁwﬁaﬁﬁmmﬁaa
g d
(©) Tafanrgu mHevs gnar His € gUiSSE & HIZT € U™ BargE SEt
(@) U35 Uu '3 Adfex fefdasr v uzr wsar@z &8 ferHs I3
18. The tertiary structure of protein is detected by
(a) X-ray diffraction (b) Spectrophotometry
(o) Electrophorws ' (d) Chromatography
yJts & -rigus & fam ovrar ugfow wer 3 ¢
(@) MaR-3 fsams (b)) AUEZEeHedt
(¢) fedagesin (d) IRt
19. Electrocardiogram (ECG) :
(a) Measures electrical activity generated by brain
(b) Recording of the hormonal activity of the heart over time
(¢} Recording of the electrical activity of the heart over time
(d) None of the above
st.ArA
(@) Terar enrar B3urfes famset fafoniiwsT § Hua
(b) <O AN feo fos & ooNes fafonmafesT § faares ags"
(c) Uiz AN feu fow < fanset fafonrdiesT § faarss sEar
@) feam fog agt &t
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20.

21.

- 22.

23.

24,

25.

Which of the following is not correct about freeze-fracture technique ?
(a) It involves physical breaking of frozen biological samples

(b) Fixation in glutaraldehyde
{¢) - Involves vacuum subhmatlon of ice

(d) Cryoprotection with glycer
< s it o 6103 8 3:

@ A e aufenr o $f3= e 3 S fom feg w3

-(b) Glutaraldehyde § fsaufas a9 feg
- (©) mﬁ%ﬁ@n&é}ﬂﬂaﬁﬂf@amﬁﬁ b

@) afSHIS s® TRy 2aEs

Diapause can occur at

& N gaor®) (@ Any stageof deve
¢ either (a) nor (b)- y stage of development
- ety fow enger 9 ¢ . |
(@) wnfeafis/sree dug '3 (b fuumiogs 3
©) (a)»é(b)é%'at?r' (d feamITfeAHUug 3
Light energy with wavelengths between 400-760 nm is
(a) Infrared light (b) Ultraviolet light
(c) Visible light : (d) None of above
400-760 nm &t Jar-Baret feg yam §ov 3 ¢
(a) fEaeTds yam (b) w-Faet frast @ YA
© yHygw - @ fegt fed ot &t
Antagonism consists of following : '
(a) Competition Predation
(c) Parasitism (d) Allof above
feduzr fem faozr I3 ofme Jor 3
(8) YIwasT ®) s
(¢ fRswe - ' @) &udas A &

_ Parasitism and Predation both are interspecific relationships, but they differ ﬁ'om each other in

(a) The involvement of two different species

(b) The host is not directly killed in one of them

(c) One species is always benefited
(d) One species is always inhibited

UIHIST M2 UISTHT
(@) € gt yrrshort 2 AHSZ

@m—&ﬁmm#&%mwﬁamyﬁu%éaaﬁ%

®) ﬁﬁrﬁaﬁaﬁamwﬁwaﬁmw

(¢ fea yrst onmr &3 feg Afdet 9
(@ fex yarst over wefvs Sfdet 9

The term ‘Biosphere’ was first proposed by
(2) G.E. Hutchinson (b

(c) Eduard Suess (d)
Biosphere A& 5 ufast Tv9 fersHs &

(a) . 2 Fefears (b)
(c) WIS BAR @

5

G.L. Clarke
P. S. Welch

53

S, TSI
WH. 59
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26.

27.

28.

29.

30.

31.

3,

The underground layers of water-bearmg porous rocks are called

~{(a) Pedosphere (b) - Aquifers
(¢) Lithosphere (d) None of these
UEt T8 HAHE U S aktees uest § afde 75
(@ WEreme (b) rEEeT
() wErEmie (@) fegifeg astadt
Competitive exclusion principle was given by
(a) G.F. Gause (b) E.P.Odum
(¢) G.Hardin (d) Lotka and Volterra
ySioart misfoat fraiz fésr :
(@ e dn (b) Trt.8sH
(c) . gafEs (d) B w3 IBT
If succession starts on a bare rock, it will be first invaded by
(a) Mosses : (b) Lichens
(¢) Shrubs (d) Herbaceous plants
%5 g €3 Qun It 3t AF 3 ufost BaE o' o I ¢
@ ¥R ) &
(c) It @ w-gd

Which of the following is not a deep sea adaptation ?
(a) Bullet shaped streamlined body (b) Dorso-ventrally flattened body

() nght organs (d) Ventrally placed, big mouth
fegt feg' & aifad mies @ niggs &4t @
(a) ekt & TS T mTg (b) WS Tt fils € ot uemig
(c) YIH Ml - (d) I AfES fers 2
Which of the following is not an example of a typical lotic habitat ?
(a) Stream (b) River
(c) Spring (d) Swamp
%W%wwwmmaﬁmmwa
(a) SIS ® =
(c) &IT (d) ©&eH
Which of the following do not belong to littoral zone periphyton ?
(a) Pond snail (b) Hydra
(c) Rotifers ' (d) . Daphnia
o fofimit feo" foosr Jeeadt 839 o Aifuz a0t 9 ¢
(a) SHE War (b) uUH TH RY
(c) ded (d) 3=Ear
~'Which of the following terms is not related to thermal stratification of a lake ?

(a) Eutrophication (b) Thermocline

N (9] Eplhmmon (d) Hypolimnion

- o fefeedt fog” foost Aae dis ©F 3 Tonmet & REfU= 50 3

(a) Eutrophication (b) Thermocline
(c) Epilimnion : (d) Hypolimnion
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33.

35.

36.

37.

38.

39.

40.

Which of the following does not take part in the formation df water blooms ?

(a) Nostoc (b) Pinnularia {(c) Anabaena (d) Oscillat'ori.a
35 fafuntt fed" faoa udt @ St § faafiz ags feu fim &0t 8w :

(@) Nostoc ~ (b) Pinnularia (c) Anabaena (d) Oscillatoria
Which of the following does not represent a characteristic of the tundra biome ?

(a) Permafrost ' (b) High species diversity

(c) Chamaephytes (d) Polar climate

35 Tttt fog foagat e aEt6H & felmsr § R &dt aoer

(a) Permafrost (b) High species diversity

(¢) Chamaephytes | (d) Polar climate

Which of the following does not occur in Oriental region ?

(a) Indian porcupine ' (b) Indian elephant

(c) Zebra (d) - One-hored rhinoceros

(@) @93t GofaBusts (b) zrast ot

(© wET : @ fex-fia @z

Which of the following does not show social organization? :

(a) Termites (b) Housefly (¢) Ants (d) Bees -

Iz fafmt fod” froz™ Afea Aoes § &dt we@er ¢ |

(a) TR@a (b) WIB Hdnit (c) oot (d) WY Ydinft
The National Bureau of Fish Genetic Resources (NBFGR) is located in o

(a) Lucknow . (b) Bhubneswar (c) Barrackpore (d) Trivandrum
NBFGR Af&3 3

(@) =BG (b) IR (¢) IS @ feeo
Which of the following is called as ‘Kashmir stag’? _

(a) Hangul (b) Pigmy hog (¢) Thamin deer (d) Musk deer
Jo fofint fed’ amitdt foas & : '

(a) AT ®) fuandt Ja (¢) wiHs g (d) Az fHaa

In a food chain the amount of DDT is increased through the process of '
(a) Eutrophication (b) Remediation (c) Biomagnification(d) Denitrification
Y= &3t feg S & wsT fam yfaforr os 2ot #idt 9

(a) Eutrophication (b) Remediation (c) Biomagnification(d) Denitriﬁcation

One Horned rhinoceros is associated with : ,
(a) Kaziranga National Park (b) Jim Corbett National Park

(c) Keoladeo National Park (d) Dudhwa National Park
fea-fifar 918 er AT , | :
(@) THLIT AFEH U (b)) v oS Ansm uea

() NERFE mEs U  (d) TURT 3FES UK
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41.

42'

43.

48.

The state mammal of Punjab state is

(a) Musk deer (b) Black Buck
(c) Hangul (d) . Thamin
UArg 9 ©F I gEarat Aie faozr 9

(@) A fiaa ) T fisar
(c) s @) T

The chief merit of Bentham and Hooker’s system of classification is that

(a) Itis a natural system of classification of all groups of plants.

{(b) A system based on evolutionary concepts.

(¢) Itis considered to be based on phylogenetic concept.

(d) The descriptions of taxa are based on actual examination of specimens.

Bentham and Hooker’s & #3a1-33 ¢t feRmzr feg 9 fa .

(a) feo A Ufentt ¥ digu &t T391-33 &t geat AT T |
M) f&o fAmey feam faiz '3 gz 3 |

(c) fem & phylogenetic fRTiz '3 wrurg3 Hfenr Afer 9

(d) Taxa T fe=az ayfont & nirg ugy '3 morgs 3

One of the best ﬁdhods for understandi geneﬁc relationships of plants is

n
(a) Cytotaxonomy ) Experimental Taxonomy
() Numerical Taxonomy (d) Chemotaxonomy
Ufentt ¥ genetic ATt 3 ufgoras & AZ 3 <dor ST J |
(a) Cytotaxonomy (b) 3W9E nMOI& Taxonomy
(c) Ffm21d Taxonomy (d) Chemotaxonomy
Carolus Linnaeus is credited with introducing
(@) The conceﬁt of inheritance (b) Law of limiting factor
(c¢) Theory of heredity | (d) Binomial nomenclature
Carolus Linnaeus = y&t 3 fa 89 ufoers ao€er 3
(a) feom © froiz & (b) I Wt § AU 98 T fluls 3
() U= a3 &% ' (d) Binomial nomenclature 3%
Systematics deals with
(a) Identification of organisms
Classification of organism '

(¢) Thekind and diversity of all organisms and the existing relationships amongst themselves
(d) Identiﬁcatiq‘n, naming and classification of plants

Systematics €'

(a) organisms T UB'E

(b) organisms € TIA-EF

() Frfenr & famd n3 nisg

(d) organisms ¥ ufgeE, &H FIT 3 nirurt Aey

Which one of the following is the most advanced group of Algae ?

(a) Cyanophyta (b) Rhodophyta
(c) P phyta (d) Chlorophyta
I5 fosfimt fes® foamr Algae & AZ 3° ¥u I8t AHT 3

(a) Cyanophyta (b) Rhodophyta
(c) Phaeophyta _ (d) Chlorophyta

Paper-1I (Biology) 8 B




47,

48,

49,

50.

51.

52,

53.

U

Origin and evolution of sex in algae is seen in

(a) Blue green algae (b) Green algae (c) Red algae (d) Brown algae
Algae fe9 f8a1 & AaH 3 feamm, e famr 3¢

(a) @® II Algae (b) TJ Algae (c) ®S Algae (d) T Algae
Zygotic meiosis is a characteristics feature of .

(a) Algae (b) Bryophytes (c) Pteridophytes (d) Gymnosperms
Zygotic meiosis fom € feRmzr 3 : ' B _ |

(a) Algae (b) Bryophytes (¢) Pteridophytes (d) Gymnosperms
The only positive evidence about aquatic ancestry of Bryophytes is

(a) Thread like protonema (b) Green colour

(¢) Some forms are still aquatic. (d) Ciliated sperms

Bryophytes €t An-ferredt a9 f&t RararsHx RS 3

(a) U TP Protonema _ (b) - TIT I

(¢) TS HIuae aquatic TS (d) Ciliated FITE

To which group would you assign a plant which produces spores and embryos, but lacks
seeds and vasculature?

(a) Algae (b) Fungi {c} Pteridophytes (d) Bryophytes
. # T spores »3 embryos UT" &Y UT fiH &9 seeds 13 vasculature & wrz 32, €R 3

fan digu feg a8 7

(a) Algae (b) Fungi (c) Pteridophytes (d) Bryophytes

If the chromosome riumber in the leaf of Funaria is 20, what will be the chromosome
number in the spores ?

(@ 20 (b) 40 () 10 @ 5

39T Funaria T U3 o JE-F3d Mid 20 9, 3F spores T JT-HIT mid ot Jear

(a 20 (b) 40 , (© 10 () 5

The dominant generation in Pteridophytes is -

(a) Haploid (b) Gametophytic (c¢) Diploid (d) Triploid
Pteridophytes feg a7 9 -

(a) Haploid (b) Gametophytic (c) Diploid (d) Triploid
Megasporophyll is the term used in Gymnosperm to denote ' ,

(@) Carpels (b) Stamens (c) Leaves ~ (d) ' Female Cone
Gymnosperm f&g Megasporophyll Rge T9A8z et Tafanr Aer 3 '

(a) Carpels (b) Stamens . (©) Leaves (d) Female Cone
At which partlcular stage of development, the endosperms in Gymnospermis is formed
(a) At the time of fertilization (b) Before fertilization

(c) After fertilization - (d) Along w1th the development of embryo
Gymnosperms &9 endosperms far uzmi Qua gser 3

(a) d92 U'IS TIS AN (b) T UIs FI5 T ufet

(c) 995 U9H X5 3 a0iE (d) embryo ® eI T FB-AW
' 9 Paper-1 (Bislogy)



§5. Bacteria do not need suﬂight to grow because
(a) They prepare their own food without the help of sunlight.
They are photophobic.
(¢) Theylack chloropl(11y11 to synthesize their food.
d) They use other kinds of light to manufacture their food.
%az’mm_ v feorn It gon €t IRAt &t SR fx@fx
(2) BT g o IS I fas v 398 miry I J9¢ I8
®) €vIEst & F-uRT F9e I6
(¢ € nuz 375 5578 STt Chlorophyll € we Jue 76
(d) 67 57 To8s &t TRt famH & IRST yiar e I8

§6. The conjugation in bacteria was discovered by

(a) Arber and Smith (b) Lederberg and Tatum
c) Jacob and Monad (d) Zinder and Lederberg
%az’fé’lm" feu AGws 3 Hfmr 3
(a) Arber and Smith (b) Lederberg and Tatum
(c) Jacob and Monad (d) Zinder and Lederberg
§7. Which one of the amino acid is found only in bacteria and blue green algae ?
(a) Methionine (b) Diamino-pimelic acid -
(c) Aspartic acid (d) Glutamic acid '
f593 Amino Acid fae 3 w3 T3 Algae g urfenr afer 3
(a) Methionine (b) Diamino-pimelic acid
(c) Aspartic acid. (d) Glutamic acid :
§8. In fungi, the reserve food material is usually stored in the form of
(a) Starch (b) Lipid
(c) Glycogen _ . (d) Protein
G5 g Inet 3w fan gu few Agfer Ao 3 8T 9
(a) Starch (b) Lipid
(c) Glycogen (d) Protein
59, The fungi producing usually 8 spores in 2 sac like structure belong to
(a) Phycomycetes . (b) Ascomycetes
(c) Basi:iiomycetes (d) _Deuteromytetes
&% »H 39 '3 R sac e 8 spore Uer Foet I # RIS 3
(a) Phycomycetes &% (b) Ascomycetes &%
(¢) Basidiomycetes 5% (d) Deuteromytetes &%
60. One of the common fungal diseases in man is
(a) Cholera ' (b) Plague
(c) Ringworm - : (d) Typhoid
Hfonit feg @Rt & 78 I Juniu frdt 9
@ I - (b) uBd
(© WU (@ TEeTEs
61. Lichens are the major pollution indicators of
(a) SO, (b) NO,
(c) Mercury ' ' d COo
Lichens YEFE ¥ AS 33 Ha3x 36
(a) SO, () NO,
(c) ud d CO

Paper-1I (Biology) 10



62.

63.

68,

67.

The Lichens that are rock dwellers with xerophytic adap_tatioﬂ are called

(a) Lignicolous (b) Terricolous (¢) Saxicolous  (d) Corticolous
Lichens # f& Xerophytic & nagesr & Yot fou foom o 96,905 & faor e 3
(a) Lignicolous (b) Terricolous (c) Saxiqolous (d) Corticolous

The spike like projections seen on the outer surface of enveloped viruses are called
(a)  Capsomeres  (b) Peplomeres (c) Proteomeres  (d) Viroids '
He fdegnft @ 99999 &g miE § faor ater 9 '

(a) Capsomeres (b) Peplomeres (¢) Proteomeres (d) Viroids

.- Which one of the following shows coiled RNA strand and capsomeres ?
(a) Polio virus (b) TMV (¢) Measles virug (d) Retrovirus

35 feftm feg® faos™ B9 RNA strand m3 capsomeres fear@er 3

(a) WRf=E () ™™V (c) MeaslesfaaE (d) = Retrovirus
When the margins of sepals or petals overlap one another without any particular direction,
the condition is termed as - _

(@) Vexillary (b) Imbricate (¢} . Twisted (d) Valvate .

7S sepals 7' petals ¥ fodord Bix-gra § fas® fan ur fom @ 92 39 o= 3f Aft &
faor wer & '

(@ Vexillay  (b) Imbricate (©) Twisted @ Valvate

Which one of the following statements is correct ?

(a) The seed in grasses is non-endospermic.

(b)  Mango is a parthenocarpic fruit. '

(c) A proteinaceous aleurone layer is present in maize grain.

d A sterilei pistil is called a staminode.

J5 fefiw feg fage aas At Y

(a) wd feg® d¥ non-endospermic Jer I

(b) g &S parthenocarpic €3 I ‘
(c) Mot © vfenr =9 proteinaceous aleurone AZFT Hoge get @

{d) sterile pistil § staminode foxar #ier 9

Which one of the following anatomical structure will you use to distinguish between the
old piece of dicot stem and a dicot root? '

(a) Secondary xylem _ (b) Secondary phloem

(c) Protoxylem (d) Cortical cells .
Dicot stem dicot root ¥ 2513 59 »i39 a9 &2t 3T fora3 via-fefamias Asosr & o
F9ar |

(a) Secondary xylem (b) Secondary phloem

(c) Protoxylem (d) Cortical cells

White rust of crucifers is a pseudo-rust because

(a) The disease is not caused by basidiomycetous member, -
(b) The colour of the pustule is not red.

(¢) The disease is seen on crucifers.

(d) - The disease is not seen on wheat.

Crucifers € Ae® rust ¥ g9 rust J fSfx
(@ FTT I basidiomycetous &It (b) Pustule T Ja1 % FI1' I
(¢) Crucifers §ug Jar Sftmr famr J (d) T Guo I &t fmr famr I
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69.

70.

..

72.

73.

74.

78.

76.

The phenomenon of Heterothallism was first discovered in Mucorales by

a) Charles Bassey Gaumann
Ec} Blakeslee d} Alexopoulos
Heterothallism & yfenr 58 3* ufgst Mucorales feg uet aret
" (a) Charles Bassey ©mirg (b) Gaumann 2"
(c) Blakeslee @I (d) Alexopoulos ¥Tar

Which one of the following meristem helps in increasing the girth of the stem?
ﬁ Lateral meristem fb; Intercalary meristem
¢} _Primary meristem (d) Apical meristem
faa3™ Meristem, stem 27 girth TU@= fou Hew Jger I 2
Ea; Lateral meristem (b; Intercalary meristem
¢) Primary meristem (d) Apical meristem

Organization of the stem apex into corpus and tunica is determined mainly by
za) Planes of cell division (b) Regions of meristematic activity
¢) Rate of cell growth (d) Rate of shoot tip growth

Corpus 3 tunica <9 stem apex € RAET By 39 '3 Ufgorat Arer & o :

(@) H®-¥s <t 3fo (b) Meristematic I3 T 43T
(c) Asfeamdtes (d) Shoot tip fearr <t =9
For proper union between stock and scion in the grafting, which one is the first to occur ?
(a; Formation of callus : (b; Production of plasmodesmata
(c) Differentiation of new vascular tissue (d) = Regeneration of cortex and epidermis
Grafting f&9 stock "3 scion TIms Aviar &t faasr A8 3 ufast auger d 7
(a) Callus T 3165 : (b) Plasmodesmata =7 §3ures
(¢) & vascular feg feg nizq (d) Cortex »i3 epidermis T UsI-g=3d
A narrow layer of thin walled cells found between phloem/bark and wood of a dicot is called
Ea} Cork cambium ?’; ascular cambium

¢) Endodermis d) Pericycle .
Phloem/bark »3 33 ¥ R dicot Tafims wet Tz oot Uz Mt &t dleg § fror Aier 9 7
(a) Cork cambium - Eb; Vascular cambium
(c) Endodermis d) Pericycle

As the tree grows oldef, which one of the following increases more rapidly in thickness ?

(a) Heart wood . (b) .Sapwood
%:}% Phloem (d) Cortex

R Tu3 & Q1T FuTT I, I fefun 39" fage 3t o use Jeraer 3
a) ' Heart wood ' fb Sap wood I
Ec; Phloem d; Cortex

In plant leaves, the phenomenon of openini and closing of stomata is governed by

2a Circadian rhythm (b) Genetic clock
“cé . Pressure of gases inside the leaves (d)  Turgor pressure of guard cell -
2 Ufanit foT stomia ¥ Y5 w3 de 9= o fafont Aorfes &St Aidt & prrar
(a) Circadian thythm (b) frerAt wSt
(c) Ufsnmnicni dmieres®  (d) TuRX A& € Turgor I8 3%

Phytochrome is involved in

a) Phototropism : Photorespiration
8 Photope:godisran 8} Geotrcl;f)sl}s)m
Phytochorme H'HS d, _
}ag Phototropism (b; Photorespiration
c) Photoperiodism ~ (d) Geotropism
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77.

78.

79.

80.

81.

82.

Phosphorus and nitrogen ions generally get depleted in soil begause they usually OCCur as
(a) Natural ions

(b) Negatively charged ions

(c) Positively charged ions

(d) _ Both positively and negatively charged ions but in disproportionate mixture -

'W@m%wwsa‘éﬁérﬁamﬂéaﬁ%@ﬁwga IQITS

fea st ufes ge s |

(a) OIS viTE T

(b) HIIIHI TIH NS s

(c) FIIIHI TTIH WES B 95

(d) mﬁme&wmmmm I
Which one of the following is an essential mineral whlch is not a constituent of any
enzyme but stimulates the activity of many enz&n

(a Zinc anganese

(c) Potassium (d) Magnesium
%Wﬁvﬁwmﬁm%ﬂﬁﬁém?mw%mmﬂ%

'mzm%éfﬂﬁﬁﬁﬁ%ﬁ&ﬁ?a ?.

(a} Zinc (b) Manganese
(c) Potassium (d) Magnesium
In C-4 plants, the Calvin cycle operates in:

(a) Stroma of bundle shwth chloroplast (b) Grana of bundle sheath chloroplast
(¢) Grana of mesophyil chloroplast (d) Stroma of mesophyll chloroplast

C-4 tifertt feg calvin 999 Aofss Jer 9

(a) Stroma of bundle sheath chloroplast (B) Grana of bundle sheath chloroplast
(c) Grana of mesophyll chloroplast (d) Stroma of mesophy!l chloroplast

The greatest Froducers of organic matter are

(a) Crop plan (b) Forests

(c) Plants of land area (d) Phytoplankton of oceans.
A3 3 209 nfed wegg @ @Bwea T |
(a) THS UL ) FIs

() FHRfegaole (d) RH=9 T Phytoplankton

A bottle filled with prevnously moistened mustard seeds and water was screw

tightly and kept in a comer. It blew up suddenly after about four hours. The phenomenon
involved is known as

(a) Diffusion ~ +(b) Imbibition

(¢} Osmosis (d) Diffusion Pressure Deficit

5z 835 feg ufast 3 & gas Tt @ 9 »R Ut 39 & B R de 99 T e w3 ‘

Ex dag feg o 3 fapr) 919 R gmre feg 53 @2 ot | feanqmraﬁafwﬁ

(a) Diffusion (b) ~ Imbibition
{(¢) Osmosis (d) Diffusion Pressure Deficit

Which of the following movement is not related to auxin level ?
(a) Bending of shoot towards light (b} Movement of root towards soil

(¢} Nyctinastic leaf movements (d). Movement of sunflower head tracking the sun
I fesfimit feg® foadt yfafantt auxin Vo9 &% Adft= &0t 3 7

(a) <0 oINSt TH BT b 73 & HE o yHafonr -
© U3 ety yfimr @) FEH W ¥ o o gen & 66T ¥y
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83.

85.

- 86.

87.

89.

Phototropic and Geotropic movements are linked to

(a) Gibberellins ) Enzymes

(cg Auxins - .. ‘(d) Cytokinins

Phtottorpic "3 Geotropic IJ53 REUS J
a) Gibberellins _ Enzymes

fc} Auxins : gi; Cytokinins

The first carbon dioxide acceptor in C4 plant is ,

{a Phospho enol pyruvate ; Ribulose 1, 5 — diphosphate
¢) Oxaloacetic acid : d)} Phosphoglyceric acid

- C-4 Ufantt feg ufow argas somarels yers a93 J ¢

a) - Phospho enol pyruvate - (b} Ribulose 1, 5 — diphosphate
8 Oxaloacetic acid (d; Phosphoglyceric acid P :

The most widely accepted theory of Ascent of Sap in trees is
a; Capillary action '
Role of atmospheric pressure
c% Pulsating action of living cells
Transpitation pull and cohesion theory of Dixon and Jolly
Sap &t 933 & A8 3 T Yerfs3 fruts
(a) Capillary action
(b) TIEIs T THE I gHIAT
() THER Awt O gonst J9a3 o '
(d) Dixon 3 Jolly T transpiration ¥8< m3 feas firuts
The hormone responsible for apical dominance in plants is

{a) IAA
¢ ABA_ d) Florigen
37 grana 7 Ufent feg apical Rt &8t vREg 3 ¢
a) [AA . (b) GA
8 ABA (d) Florigen
The photosynthetic pigments found in chloroplasts occur in
ga% Thylakoid membrane gb; Plastoglobules
¢) Matrix d) Chloroplast envelope
Chloroplasts f&9 U 7= T3 photosynthetic pigments ufez 32 75
(a) Thylakoid membrane fog (b) Plastoglobules f=9
() Matrix feg (d) Chloroplast envelope f&&

The dark reactions of photosynthesis occur in
a) Granular thylakoid membrane
Stromal lamella membrane
¢) Stroma outside the photosynthetic lamellae
d) Periplastidisg[%ace . '

Photosynthesis € a3 ySiaH wfez Je 75

a) Granular thylakoid membrane

Stromal lamella membrane

c) Stroma outside the photosynthetic lamellae
(d) Periplastidial space
Which one of the following technique has helped in the investigation of Calvin cycle ?
§a; X-Ray Crystallography - %b) X-Ray technique
(c)  Radioactive isotope technique d) Intermittent light

i fod" fgst 39a Calvin Cycle 8 U9y %95 feg Hegarg I ¢

(@) WEF-J crystallography (b) nAR-I IISH
(c) Radioactive isotope IIEX (d) . Intermittent IHET

Paper-1I (Biology) 14



,90.

91.

92.

93.

94,

95.

96.

During monsoon, the rice crop of Eastern states of India shows lesser yield due to limiting
factor of

(a) Carbon dioxide %b; I\ilfglt:r

(¢) Temperature a :
mmm%mw&asﬁémmwﬁﬁﬁﬁmwm%m

fod forRt o & wre 3

(a) 9IS zléwaﬁre"ls b) IHS
(€) IUHE . , (d) ut
Ferredoxin is a constituent of
(a) PS-1 _ (b) PS-2
{(c) Hill reaction " (d) P-680
Ferredoxin far =" 9165 9
(@) PS-1 (b) PS-2
FORRIERIE -y (d) P-680
" In terrestrial habitats, temperature and rain fall conditions are influenced by
(a) Water transformations b T iration
Thermoperiodism (d) Translocation
znzga <Rfamit feu "9R™3 nr?{ IUHS T T3 yFifes Je 7 ¢
(a) S IHR A5 (b) 3FH _
(c) Thermoperiodism @) €3 3uNs feg Few

Bananas can be prevented from over-ripening by
(a) Maintaining them at room temperature
(b) Refrigeration .

(c) Dipping in ascorbic acld solutlon

%Stoga%at high tem FF W ).

(a) mﬁ%m%é&sm - (b) 35 feursmEE®
(¢) Ascorbic MRS feu 38T &8 (@ €9 3uNs feg Juz o5

The enzyme that catalyses carbon dioxide fixation in C4 plants is

(a) RuBP carboxylase ' (b) PEP carboxylase
(c) Carbonic anhydrase (d) Carboxy dismutase
C-4 Ufenit fog arggs SEMEAETS € W3 Tuls % TouHE
(a) RuBP carboxylase (b) PEP carboxylase
(¢) Carbonic anhydrase (d) Carboxy dismutase
Which one of the following is produced during water stress that brings stomatal closure?
(a) Ethylene (b) Abscissic acid
- (¢} Ferulic acid Coumarin
mmm%mﬁﬁ?ﬁwﬁ?a@%ﬁﬂzﬂwmﬁmﬁva
ga; Ethylene : (b) Abscissic acid
¢) Ferulic acid (d) - Coumarin
- Which one of the following is a C4 plants ?
(a) Papaya (b) Pea
(c) Potato (d) Maize/Com
5 fafemit feg faaa* C4 U -
(a) wdts b HeT
(© g @ Het
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97.

98.

99,

Maximum solar en'ergyl is trapped by

(a) Planting trees (b) Cultivating crops

(c) Growm algae in tanks (d) Growing grasses
. Fl?!?lg'f €onr Ha@ At I, g

(a) u@ iz 1% (b) eAE HhE &%

(¢) 3o feg adt Uor o9 o (d) urg 8Bz 35

If a tree flowers thrice in a year (Oct., Jan. and July) in Northern India, 1t is said to be
%b) Photo and thermo-insensitive

Photo and thermo-sensitive
(c) Photosensitive but thermo-insensitive

-(d)  Thermo-sensitive but photo-insensitive '

mgﬁ'aaé?ﬁaamﬁg%s@a(maam ﬂaeérm%ﬂare?)ﬁaa&ﬁ?aw
%?f&ﬂaﬁmwﬁ
(a) aﬂ??rm%ara}ﬁqér»m%em
(b) SHST 3 I Y ATEHIB
(c) SHahyIt ARTaH® udg st Y=t niAEEHIS
(d) TN Y=t A udz IEst yIt nirtesnts
Which element is located at the center of gl))orphg}['m ring in chlorophyll ?

d

ga; Calcium gnesium

¢) Potassium Manganese -

Chlorophyll f&9 fag3 uerag porphynn ring © %9 feg ufenr Ay
(a) Calcium Eb} Magnesium :

_ {c) Potassium d) Manganese

100.

101.

102.

103.

“Which one of the following is wrong in relation to photo-respiration ?

(a) It occurs in chloroplast. (b) 1t occur in day time on g
() ltisa characteristic of C4 plants. (d) It is Characteristics of C3 plants

JEE 99t Ao Bz @ Hu few Io fhmit fed’ faozr aw3 3 7
(a) T2 chioroplast T wfez J& 3 (b) feafﬂaeﬁaﬂﬁurkaa@%t

(c) feaca ifent o8z d @) feocsifornt ordez 9
Photosynthetic Active Radiation (PAR) has the following range of wavelengths
(@ 340-450nm (b 400 - 700 nm

(¢) 500- 600 nm %;;H’T 450-900nm
Photosynthetic 3&3 f39at (PAR) & U6 wavelengths Iet 3
a) 340-450nm 400 - 700 nm
8 200600 am (8 490500 nm

Which one of the following will produce androgenic haploids in anther culture ?
(a) Anther wall ; apetal ai/er of anther wall
(¢) Connective issue Young pollengrains
5 fosfuntt feg® {3 anther culture ]%EI androgenic haploids T&" ST ¢
%a) Anther wall ; Tapetal layer of anther wall
¢) Connective issue d) 7S UIH g

A population of genetically identical individuals obtained from asexual reproductlon is called
(a) Callus (b) Clone

(c) Deme (d) Aggregate
ﬁ&ﬂm—mﬁﬁﬁ@aﬁﬁmmﬁmﬁﬁwﬁamwﬁ ?

(a) Callus (b) Clone

(c) Deme (d) Aggregate
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104. In an Angiosperm flower, how many microspore mother cells are required to produce 100

108,

107.

108.

109.

T e

moméﬁﬁalmmﬁﬁﬁ?m@ﬁ%mmspommomerceﬂs o=

%a; 75 : gbg 100

c 25 . ' d) 50

In a type of apomixis known as adventive embryony, the embryo develops directly from
ucellus or integuments

Zygote '
c Synerglds or antipodals in an embryo sac
%ﬂ embryo sacs in the ovule
apomxxxs 3 adventive embryony ¥ wrfenr mier I R fifd 39 3 embryo faR
oy Yer Jor 9
(a) Nucellus or integuments
(b) Zygote
() Synergids At antipodals ¥ f&& embryo sac
(d) Ovule f¥8 accessory embryo sacs

Two plants can be conclusively said to belong to the same species if they
a% Have more than 90 % similar genes
Look similar and possess identical secondary metabolites
8 Have the same number of chromosomes
lJ@rCax} reproduce freely with each other and form seeds
(=4

‘%ﬁaa’fms”rmﬁauaaﬁwna%aﬁﬁaa

() ﬁEIHQO%B'é‘UﬁaﬁﬁgenesaE '

®b) fEa Y w9 mBz o5 uF3 Hfsa uas fafonr @38

() &3 fid chromosomes 9=

(d) @ammmwﬁaﬁwmm@mm@ﬂﬁwm@aﬁl

The first successful transformation of rDNA molecule into a bacterium was carried out by
a) Nathan, Arber and Smith gb; Watson, Crick and Wilkins
' Ec; Bo er and Cohen d) Paul Berg
DNA 3 f¥a ¥edidtnr fou 3eei® 95 © Ag 3° ufowr 3nger faRd ditsr?
a} Nathan, Arber and Smith Watson, Crick and Wilkins
¢) Boyer and Cohen d) Paul Berg
e mechanism of intake of DNA fragments the surrounding medium by a cell is called
a; Transformation only : g Transduction only
c¢) Both(a) & (b) Conjugation
P EniraT DNA 2alfamii § mid-gor® & it It IR &35 oF 338l § faor Afer 3
(a) Transformation only ' (b) Transduction only
(¢ == (@ nf3 (b) (d) Conjugation

The most important dlsoover{vthat led to the development of DNA technology was
a; Double helix model of Watson and Crick
Discovery of restriction enzymes

d; Dlscoveryofl e enzymes -
Discovery of plasmid

DNA 333 5% It FZ 3 T HISTUTS b :
(a) Watson and Crick & L TRl Hees

(b) restriction enzymes S HH

(c) ligase enzymes @ Ha

(d) plasmid & &3 -
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110.

111.

112,

113,

114,

Golden rice is a transgenic crop of the future with the following improved trait:

(a) Insect resistance (b) High protein content
(c) High vitamin A content (d) . High lysine content
A&fIe 9% 3y <t f8K transgenic @RS J, 7 35 B8 oA trait BT ¥
(a) otfamr 3 Hafumz ) RS w3
(c) <TUT feeHs € O3 (d) =TI lysine &3
In order to obtain virus free plants through tissue culture techmque the best method is
(a) Meristem culture (b) Protoplast culture
(c) Anther culture (d) Embryo culture
feq aw9a ea difant 3° a3 U IRS &6 ©F AY 3 Iubr 3dtar 9
(a) Meristem culture ' (b) Protoplast culture -
(c) Anther culture (d) Embryo culture
Which one of the following bacterium is considered as “Nature’s Genetic Engineer” ? ?
(a) Agrobactrium tumefaciens (b) Agrobactrium radiobacter
{(c) Pseudon:onas putida (3) Thermus aquaticus
Iz ettt (5 faaat guast faart v Fadinie ¥ifer ater
- {a) Agrobactrium tumefaciens (b) Agrobactrium radiobacter
(c) Pseudomonas putida (8) Thermus aquaticus
The technique of DNA fingerprinting was perfected by
(a) Stahl (b) Beadle and Tatum
(c) Franklin ' (d) Alec Jeffreys
DNA & Hfex ufgerz ams o35 & 38 § fagr Aer J ¢
(a) Stahl (b) Beadle and Tatum
(c) Franklin (d) Alec Jeffreys
Which one of the following hormone pair is required for a callus to differentiate ?
(a) Auxin and Cytokinin (b) Auxin and Ethylene
(c) Auxin and Abscissic acid (d) Cytokinin and Gibberellin
I fofimi feg fra=m harmone H37 callus #39-fauz &t S3ter 9
(@ Auxin M3 Cytokinin (b) Auxin ™3 Ethylene
{c) Auxin "3 Abscissic acid (d) Cytokinin 3 Gibberellin

115.

Any DNA molecule that has the ability to replicate in an appropnate host cell, to which the
desired genes are mtegrated for cloning, is called

(a) Plastid (b) Linker

{c) Vector (d) Phagemld _
& DNA molecule i o9 host cell ¥ 588 v aIF d=, A f<8 cloning T 31T genes

A3 32 95, § faor Aiwr 3

(a) Plastld ‘ {(b) Linker
(¢) Vector (d) Phagemid
116. The most popular and widely used engineered plasmid vector is
(a) pBR 322 (b) pUC vector
() psScCl1ot (d) puC19
A3 3 Fu HEga mi3 fersns few mi@z T gerfeni dfent Vector 3 :
(a) pBR 322 (b) pUC vector
(¢) pSC101 (d) puci9
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117, Nomenclature code governs the naming of ammals 5

(a) ICZN () ICN
() ICNB (d) ICTV
U9 Yag Aaedt € FHAGS § feauras a9t 76

(@) ICZN -~ (® ICN

" (¢) ICNB (d ICTV

118. Sea Anemone hasa - symmetry.

(a) Bilateral (o) Spherical
(c) Pentamerous (d) Radial/Biradial
IS RPN S = £
(a) Tt (b) FEIT

(c) unfofr ‘g fsafiz @2nflon) (d) neufendt (Ifmm/eEtostn®)

119. Basic unit of eyes in the eyes of insects is

(a) Retina (b) Rhabdome

(c) Comneal facets o (d) Ommatidium

S Eit wit feg niy B st fearst O ,

@ & (b) TEBH

() JIBNE ASH C(d) GHEESImH
120. Cray fish belongs to S

(a) Pisces ' _ (b) Arthropoda

(¢) Mollusca o (d) Anthozoa

73 ¥t o Ak 3 |

(a) UEIRA &S (b) WIEILUST &%

(c) NHGAT &5 @ W
121. Mammary glands are modlﬁed |

(a) Salivary glands (b) Lacrimal giands

(c) Sweat glands (d) Sebaceous glands

- A3 T8F quisfas 95 -

(@ et aE (b) BTG IBT
() Az IB3 (d) FEHMA IBS
122. _is a mammal which lays eggs. |
(a) Scaly anteater (b) Spiny Anteater
(¢} Porcupine (d) Hedge Hog
89 MHw 3 # w3 fer 9:
(@) Fa@ P e | (b) AUEE Wit
) UsaBudls @ F\Tw
123, Heart of crocodiles is '

"~ (a) Three chambered (b) Four chambered
(¢) Two chambered _ (d) Five chambered
HaeHE o fes O | ,

@ 3-sud ®) w9 I
() e¥FH (@ A osd
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124. Birds are able to recognize their home through

(a) visual cues (b) sense of olfaction
(c) orientation of magnetic fields (d) All of the above
@) FES g T Ras % (b) dJu/AuE & Bt o
(c) =l 433 e , @ 83 Av
125. Villi are seenin T.S. of .
(a) Stomach (b) Liver
(c) Pancreas ‘ (d) Intestine
fedt ___ & & A few frdt Ry
(8 U ) () frd
. (9 ueR gt (@) wmizst
126. . Ecdysis is the shedding of
(a) Homs (b) Stratum corneum
¢) Dermis (d) Stratum germinativum
&a‘a’\ﬁn =1 -7 i
(a) TIew e (b) FCIH FrasH &
(c) 3w | @) FYH Faiddten &
127. Phagocytic cells of liver are :
(a) Kupfer’s cells {b) Dieter’s cells
{c) - Hensen’s cells (d) Aciner cells
frere € Sanites A5 T5 |
(@) TSI A (b) ITTFS
(© JsRsfS d) Peiza s
128. Oxyntic cells in stomach secrete
(a) Pepsin (b) Mucous
(¢) HCI (d) Renin
Gafiisfea s Uz feu madie a8 95
(a) Uudts ) fH8am
(c) . AL ot - () s
129. The heart murmur is due to o :
(a) Coronary thrombosis (b) Defective leaky valve
(c) Arterial valve : : (d) Il developed atrium
@ e feRaes 9
(a) &t gMEfRR ®) et awt feg gan .
(c) MIs To= T (@) S e e feam
130. In sickle cell anaemia, the disorder is caused due to the chhnge in chemical nature of
(a) a chain of haemoglobin (b) B chain of haemoglobin
¢) Neither of them (d) Both the chains -
r o Fe feg, feama o a9s fame gArfeea Agu fou meemr &g Tueer J
(a) Thiowfis &t a &St ® esfEs & p st
| () fagt & et &t @ W& ‘
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131.

132.

133.

134.

135.

136.

137.

Deamination is the process in which

(a) Poisonous urea is removed from blood and it occurs m‘kldney o
(b) Amino acids are absorbed from digested food and it occurs in 1ntest1nal v1111
(c}) Amino acids are synthesized and it occur in liver. :
(d) Amino acids are broken down to produce ammonia and it occurs in liver.

Shitdes mifrdt yfafaer 3, fan feg

(a) mﬁgﬁhﬁmmw%n@m@ﬁamwa \

(b) m@ﬁ%%%%w%@m%ﬁﬁamwﬁl
() i3 wifis 3 fifarea otz dier 3 i3 fade feg urfenr wier

(d) mﬁﬁsannmﬁ?mwsﬁwwﬁnéﬁaaﬁamw%

Hearing is controlled by
(a) Frontal lobes. (b) Temporal lobes
(c) Parietal lobes (d) Occipital lobes
H&E At § fat;rfzra' A ?t :
(a) <dc® &g TrdT (b) FUSs BF D
(0 Udlem B9 gnrar (d) WRhies &g gorar
Which of the following disease results from endocrine disorder ?
(a) Goiter (b) Pneumonia

c) _ Typhoid _ (d) Jaundice

onfgr Tt faurdt Uer 3t
(@ " Jar (b) foHSMr
© fortgrg . L@ @
The following are ectodermal derivatives :
(a) liver (b) red blood cells
(c) nalls (d) intestinal lining
s WAe3HS AR
(a) frare b wegis
(c) & @) fEsendtes wrofsa
Loss of reproductive capacity in women after attaining a particular age is
(a) Menstruation (b) Aging
% Menarche (d) Menopause N '
ferm €+ feu uduE 3 Imie wigsT feg yAss RSt e Wi ST o7 9096 J ¢
(a) HTAaUGH (b) T o
(c) Hegomteag (d) WA= oIy T g€ JF7
Failure of testes to descend into scrotum 1s
(a) Vasectomy . Cryptorchidism
¢) Impotency %1) Tubectomy
&t niAE®3T T AadeH feu €39

(a) AT _ rgUtUe Tz

() fRAd (d) feBaer it

Secondary sexual characters in females develop in response to hormone

a; Relaxin _ Progesterone

[V ESU%@ %;)xm _
a3t feg g ﬁamm?feam@m JTOHS S1I6 TUITT I
(a) ﬁ@afnﬁ (b) l{?mfzaﬁ

(¢) "ACIS (d) uEefus
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138. The term cell was coined by :
(a) Alfonso Corti (b) - Robert Hooke
(¢) Robert Brown - (d) Dujardin
% Hae O wiferarg otz J
(2) nmajm qaet d (b) a3
(c) <99 5985 3 d) Trfesd
139. The ability of a single cell to divide and produce all of the dlf’ferentlated cells in an
organism is called
(a) Differentiation (b) Totipotency
(c) Meiosis (d) Division
Hotaa Hass feo fea s o fefds o 9o <3 e 3 O a9s & Ada § afde da:
(a) nRIBS/fARATIS (b) IuH
(© fHefRm (dy fe3vs
140. Cellulose, the component of cell wall, is made up of which monomer units ?
(a) Xylose . (b) Glucose :
(¢) Glucuronic acid (d) Mannose
% o5 o wew Reen, far Hane fearet 3 sfenr 3 ¢
(@) wESH ) T
(c) IR @ e
141. The net gain of how many ATP molecules are there in one cycle of glyoolys:s ?
| (@ 4ATP (b) 2 ATP
(c) 1ATP - (d) 16 ATP :
awéaﬁfnﬂ%ﬁamﬁa%%m?m@&%ﬂaa%aﬁ ?
(a) 4ATP _ (b) 2 ATP
(¢) 1ATP (d) 16 ATP
142. Zygotene stage is the part of which phase of cell cycle ?
(a) Prophase-l (b) Metaphase-I
{c) Interphase ~ (d) Anaphase-1
e 933 2 fam u=zm o ffrr welaidts AeH 9 ¢
(a) YN : (b)) WeRw
() fEesew @ nEd
143. bond is present between amino acids.
@ H - " (b) Peptide
© Ionic (d) None of the above
<« mits wifist feg _____ Ag ofiag g
(@ M9dT ® NeEsdEE -
() rrEtfaa a3 (d) fegf R &t &t
144. When Mandel crossed the pure tall & pure dwarf plant, the phenotyp1c ratio comes to be
 (a) 9 3 3:1 ®) 1:2:1
() | d 1:1:1:1
mﬁs&ms&%ﬁua&wﬁzawmw%ymmw%
(a) 9:3:3:1 b 1:2:1
) 3:1 d 1:1:1:1
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145.

146.

147.

148.

149.

The phase of the cell cycle in which the DNA synthesis occurs :

(a) M-Phase ‘ (b) Gap0
(c) Gapl (d) S-Phase
ﬁaéaa?mﬁnﬁaéf%éﬁﬁmm?%
(@ MW ® Mo
C©) Ui | (d) »HIA

In double helix model of DNA, the DNA is present in which form ?
(a) B-form (b) Z-form
(c) A-form (d) None of the above
sﬂ%ééea%%ﬁ%anmﬁa Sinsfrgufeeofmmde 9.
(@ FIufew ) as CUACE]
(©) -égufea ) fewﬁ%aéraﬁl'l
Species in which both male & female gametes are produced by one individual are
(a) Monoecious (b) Dioecious
(c) Both{(a) & (b) (d) Neither (a) nor (b)
@aﬁmaﬂw@mmm%ﬁnﬁee%mémma%m

(a) HEHMHA () sfECrm
() oF : @ eTFIadEd
When the cross is made between offspring & its parent, it is called as

. (a) Back cross ‘ (b) Intergeneric cross
(c) Interspecific cross (d) Al of the above
e vige 3 fere Gsuea feg SR auee A 3t feR & faor A 3 ¢
(a) ¥ FIH | () Resdfo aow
(c) foconirifea @A (@) Sudaz Ay Tt
The phenotype of an orgamsm is influenced by
(a) Genotype (b} Environment
(¢} Both(a)& (b) - (d) None of the above
foxt Ao & dnce fom & yBrfes der 9
() wdesiy (b) TI<TE
(c) (a)%(b)é%'a’f - (@ fogt fed St adt |

150.

Gaseous mixture used by Miller for synthesis of amino acids through heat and electnc
discharge included ,

(8) Methane, ammonia, hydrogen and water vapours.

(b) Methane, ammonia, nitrogen and water vapours.

(c) Methane, nitrogen, hydrogen and water vapours.

d) Ammonia, carbon dioxide, nitrogen and water vapours.
sﬁv%ﬁhs%ﬁa‘mséfw%ﬁnsﬁmwﬁm%e@iﬁﬁmﬁamﬁmaﬁ

(@) MHEa, sk, TETEIHS 3 UE ¥ TRy

(b) &, nisnr, FEEHE 3 uet ¥ TRy
() Wiaw, miiast, TEEgAS 3 Ut @ Iy
(d) niHEMT, TIEs SEMEATELS, FEIGHS M3 Ut € IHY
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